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XIBIOLOGY ASSIGNIVENT
ANSWERKEY

1 |(a) ADH is a hormone released fromthe posterior pituitary gland that causes an increase in blood

pressure through reabsorption of water.
2 | Both Assertion and Reason are correct and Reason is the correct explanation for Assertion.
3 |Actively transported—Glucose, aminoacids and Na*

Passively transported—Nitrogenous wastes and water
4 |(a) Cephalochordate — Amphioxus

(b) Columns of Bertini

(c) Vasarecta
5 |Labeltheparts
6
7 b
8 |a.Thedrugs; Reabsormptive.

b. ADH; 5t0 20.




